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SO2 O2

V = 1L

mol SO2, 0,6 mol NO2, 
0,6 mol SO3 0,6 mol NO, :

c 2)
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mol SO2 SO2 O2
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2 C
atm

/ mol.L-1 2] / mol.L-1 u / mol.L-1.s-1

1 2 . 10-2 5 . 10-3 3,2 . 10-3

2 4 . 10-2 5 . 10-3 12,8 . 10-3

3 2 . 10-2 2,5 . 10-3 1,6 . 10-3
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 RNH2 
Cl.     20  mL   Cl,    -] 

 C . 10-4 mL 
Cl  

b . 
 

3. 
 

 

53,8 g 
L,  = 0,082 atm 

27  C. 

i) Mr   4) 

ii) ,38g 2 

mL, 
20 mL HCl 1 M.  

 3) 
2  

9 
 



5  
 

5  5  

 
 r : H =1, C = 12,  = 14 
 R = 0,082 L . atm / mol . K 
 Kw = 10-14 
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   3   +        2       4+          +   - 

 0,1   
 -x +x +x 

 0,1-x +x  +x 
 

Kb =    10-5 =  

 [OH- ] = 10-3  
pOH pH = 11 

 
 nNH3 = 0,1 mol  mol HCl . 

HCl   
 
 
(mol)  3           +  Cl                 4Cl 

 0,1      
 -  -   

 0,1-     -   
 

4Cl 4
+          +     Cl- 

3   2     4
+          - 

 
pH = 9  pOH = 5  -] = 10-5  
 

-] = Kb .   10-5 = 10-5    mol 

  
2 L 3 0,05mol 4Cl  0,05mol .  

 
 

                         3 r NH4Br  
          nNH3 = nHBr  0,05 = 0,05.V  V = 1L  

 
 
(mol)  3           +  Br                 4Br 

 0,05    0,05  
 -0,05 - 0,05 0,05 

            -    -  0,05 
  

4Cl 0,05mol  
4Br 0,05mol V L  

C 4Cl = C 4Br = 0,05/2  = 0,025M 
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4Cl   4
+          +     Cl-                             4 r 4

+          +     Br- 
0,025M   0,025M        0,025M                         0,025M   0,025M    0,025M 
 

4
+] = 0,025M + 0,025M  
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+             +        2       3                            +    3 + 

 0,05   
 -x +x +x 

 0,05-x +x  +x 
 
 

  10-9 =  

] =  .10-5  

 T pH pH = -log (  .10-5) = -(-5,15) = 5,15   

2 2   - + 3 +  pKa1 = 2  

pH -3 
 

- + 2   2- + 3 + pKa2 = 9  

pH 8-10 
pH 2  
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(mol)              C 4(g)   + 2O(g)     CO(g)   +  3H2(g) 0

                  0,2            1                 0,8           1

Kc = = = 4

        
mol C 4(g)            +       2O(g)             CO(g)        +       3H2(g) >0

XI1 0,2 1 0,8 1
                                                                  

+x + x - x - 3x
XI2 0,2 + x 1+ x 0,8 -x 1-3x

0,4 1,2 0,4 

n 2 = 0,4 1-3x = 0,4 
Kc

Kc = = mol

C(s) + O2(g) CO2(g)                                                  1

2 2(g) + O2(g) 2 (g)                                             2 2

2 2 (g) 2 (l)                                                    -2 3

C 4(g) + 2O2(g) CO2(g) + 2 2 (l)                              - 4

1 + 2 - 3 - 4 = +202kJ


